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#it

CALL=?
(MCOMP

BODY NAME=?
(HORO

COMPUTE (ADD +SUB+ INT 1 TURSUM) =7

(+

BODY NAME=?
(HORO2

##

COMPUTE (ADD +SUB INT+TUR«SUM) =7

4
BODY NAME = HORO
e
CALL=?

(ICOPY

NAME OF BODY TO 8g COPIED=?

(HORO
CREATED BODY NAMEs=?
(HORO3
*
¢
%%
CALL=?
(GROTA

NAME TO BE TRANSFORMED=7

(HORO3

RELATIVE=?4IF SO+ NAME=?
(

ROT AXIS(XaYs2)=7?

¢ 1.0 0.0 0.0
ROT ANGLE=?
¢ 180,0

RADIA?(O) OR DEGREE(1)=?

<
ROT CENTER (X+YeZ)=?

¢ 0.0 0.0 .. 0.0
TRANS MODE(1+04=1)=?

¢ 0
TREE MODE(O+142+3)=?
¢ 0
»

(
#4
CALL=1?

(MCOMP
BODY NAME=?

(HORO

COMPUTE (ADD +SUB +« INT»TURSUM) =7

(+

BODY NAME=a?
(HORO3

i

COMPUTE CADD +SUB» INTsTURYSUM) =7

(
BODY NAME = HORO

### BODY VOLUME= 237684.793
##% SURFACE AREA= 324524765
##% CENTRE OF GRAVITY=

=0+000 =0.000 =0.000
w#w% MOMENT OF INERTIA AGAINST GCEN

186378304,000000 13,717476
13.717476 179765304+000000
~2,578140 529,749985
##e PRINCIPAL AXES swas
1,00000 0.0 0,0
0,0 1.,00000 0,0

0.0 0.0 1,00000
wu# MINIMUM BOX COORDINATES

=45,000 =-45,000 ~27,000
#u## MAXIMyM BOX COORDINATES

45,000 45,000 27.000

-2,578140
529.749985
31822087,500000




